Red 10s

3X10= 9X10= 10X 10 = 0X10=
11 X10= 4X10= 8X10= 6X10=
10 X10 = 1X10= 4X10= 1X10=
9X10-= 8X10= 10 X10 = 7X10 =
10 X10 = 12 X10 = 3X10= 0X10=




Orange 2s and 5s

3X5= 9X2= 10 X5 = 0X2=
11X2= 4X5= 8X2= 6X5=
10X 2= 1X5= 4X2= 1X2=
9X2= 8X5= 10X 2 = 7X5=
10 X5 = 12 X2 = 3X2= 0X5=




Green Repeated addition or array

3X3= 5X4-= 4X6= 0X3=
3X4= 4X7= 8X4= 6X3=
4X4= 6X0= 7X3= 4X8=
8X3= 8X4-= 6X4-= 3X6=
10X 6= 7X3= 3X9= 9X3=




Purple Word Problems

MWESPQILCLBULG,&UI. How~
rrm;wpumdsmthmm.?hﬂxu?

Mum(ieggsmmm. How-
nw:yaggsmﬂlmin,# hoxes?

Motorhikes have 7 wheels. How
many wheels do 20 motorhikes
have?

Tn',cgcie.s have 3 wheels. Ho'wma.n,y
wheels are there altoyzthzrgc there
are b b’icgde.s?

The teacher needs each tahle to have
SLIPQ.n,cIls. There are & tahles. How

m,angpen,ub‘ will she need all
bc:ge.ﬂwr?

If a spid,@,rhas 8 legs. hwnumg
legs do b 5p1d2!3 have aitogzﬂler?

Eachcar!fw&isf-rptwp&. Hc'wma.ng
peopizcanfitm?cam?

Fiowmmanrmgzdsa*tﬁatﬂwu
are 17 in each row. Hwnmn,y
ﬁowwsmtﬁm3mw3?

Jake has red, biuzmldgm
balloons. HQ..I!‘LO..SLE-CBCQ{LC}LCO{GT’.
mewybaimdozshzham?

Mam&’spwﬂusm:lha’x. Sam

has 3 hoxes. Hcrw*m.a,ng spﬂ;i:lers
does he have altcyethzr?

Benwnntsto'buyb)swmtsfurwdl
qfhussznzmis Ho'vrnwng
sweets wi!ihzmdto*@y?

.’n..m&iruw'se,.’had‘?, 5Pr:,mlr15. How-
m.uchrrwnegd,r;d,-’ham?



